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HEEDEBR Intent of question

Future University Hakodate’s general entrance exam is designed to assess applicants’ abil-
ity to respond to, and communicate, information and ideas mostly in science, design and

technical contexts.

Parts 1 and 3 (reading comprehension) aim to assess applicants’ ability to:

e comprehend the main points of a provided reading text
e locate specific information within the reading text
e understand a question being asked and choose the most appropriate answer in the

context of the reading text
Parts 2 and 4 (writing) aim to assess applicants’ ability to:

e respond to a specific question in English within a certain number of words
e write a coherent and cohesive passage based on information and ideas that they have

heard, read, learned and experienced

2% Answers

Part 1 : Reading Comprehension 1

(1) A (2) D 3) ¢ (4) B
(5) B (6) D (1) A (8) C

Part 3 : Reading Comprehension II

(1) D (2) B (3) C (4) A
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